
SAP ABAP table VIORPO {Continuous Occupancy}

VIORPO

MANDT [CLNT (3)]

POGUID [RAW (16)]

OCCUPANT [CHAR (10)]

OCCUPANTROLE [CHAR (6)]

OCCUPANTOBJNR [CHAR (22)]

PLANRESP [CHAR (10)]

ACCTASSOBJNR [CHAR (22)]

OBJNRCN [CHAR (22)]

BUT000

CLIENT [CLNT (3)]

PARTNER [CHAR (10)]

 VIORPO-OCCUPANT = BUT000-PARTNER 

0..N

{0,1}
 VIORPO-PLANRESP = BUT000-PARTNER 

0..N

{0,1} ONR00

MANDT [CLNT (3)]

OBJNR [CHAR (22)]

 VIORPO-ACCTASSOBJNR = ONR00-OBJNR 

0..N
{0,1}

 VIORPO-OBJNRCN = ONR00-OBJNR 
0..N

{0,1}

 VIORPO-OCCUPANTOBJNR = ONR00-OBJNR 0..N{0,1}

TB003

CLIENT [CLNT (3)]

ROLE [CHAR (6)]

 VIORPO-OCCUPANTROLE = TB003-ROLE 

0..N

{0,1}


